


1. Form diagonal DB.  Obviously DB = BD.  If summits 
are equal, then SSS forces a summit angle to be 90, 
contradiction.

32.

a) AAS

b) transitive property of equality on AH makes the 
heights equal.

c) the base has 4 sides but only two unique lengths, and 
DE contains one of each, so half

d) this is obvious, the two given angles overlap two 
angles of the triangle and the remaining part matches 
the third angle precisely

1. Since the triangle has the same angles as the two 
summit angles of a Saccheri, (who, by definition 
follows the HAA) are both acute) the triangle angles 
must be exactly acute + acute which is < 180

34

If PT holds, then 

… PT on biggest triangle gives ….

BC^2 = (AE + CE)^2 + (AD + DB)^2 

… algebra foil ….

          = AE^2 + 2AECE + CE^2 + AD^2 + 2ADDB + DB^2

…. PT on smaller triangles and bisector assumption …

          = 2(EH^2 + AH^2) + 2AE^2 + 2(DH^2 + AH^2) + 2AD^2

…. same idea 

          =  4(EH^2 + AH^2) + 4(DH^2 + AH^2)

…. PT on triangle AED  …. 

ED^2 = AE^2 + AD^2 … then PT again on smallest 

   = EH^2 + AH^2 + DH^2 + AH^2

so 4 ED^2 = 4(EH^2 + AH^2) + 4(DH^2 + AH^2)
          
thus BC^2 = 4(ED^2) taking square roots gives

BC = 2(ED), but this implies the summits of a Saccheri are 
equal, contradiction``
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